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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & TE (B ESM)
LR -
= 1 76, 992, 083
3=
= 1 4, 190, 232
PRI T
= 1 28, 520
i1 TRy A7 vhyh PR B 5,
000m3 A
m3 100 285. 2 28, 520
4T
m3 4,100 4, 087, 432
EINE S Y 2. bmAi
= 1 349, 860
B (L) R - 2. 5mPA_ 4. OmAH;
= 1 56, 560
B (L) R - 4. 0mPL |
= 1 791, 580
R (SR T Cadl- ERIRY L&)
= 1 1, 958, 832
FEHA (-27) 1w 1550, 000m3 AT
= 1 930, 600
RETEIE T
= 1 74, 280
LT (R 1-350) T T A [ 0 M6 ER A5 e
m2 200 371.4 74, 280
HE o BT
= 1 26, 343, 560
[5G 1L
= 1 26, 343, 560
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
R A ALEEA 5m<L=<8m
m3 2,816 5, 069 14, 274, 304
R A AL EEB 8m<L=10m
m3 556 4,579 2,545, 924
R A ALEEC 10m<L=13m
m3 2, 268 4,199 9,523, 332
AT
= 1 11, 514, 421
AT
= 1 1, 360, 347
F e 150-200
m3 277 4,911 1, 360, 347
T
= 1 5, 408, 320
BT Al 18-8-40 (F47) JEHE 100 c m 1/
X 100cm
(15 HptEavr)-h)
m 80 46, 141 3, 691, 280
BT Ak 18-8-40 (F47) JEHE 60 cm &S
70 cm
(PB-1-4-1)
m 80 21, 463 1,717, 040
R T
= 1 4, 745, 754
NS 2505 RIS R S 9.56m
SRMFTIAR 6. 5m BRI
Sl#EF 0m
bie 21 220, 021 4, 620, 441
Ezaln SSA (11, 111, 1V, V, VL, 11w, 111w
, IVw, 10H, 25H%)
T 21 4, 830 101, 430
BU 3L R B RAR
= 1 23, 883
e
= 1 6, 938, 500
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H TE (B ESM)
av)) - T
(1 5p78))-1h)
= 1 6, 938, 500
VIR 18-8-40 (= %)
m3 204 24, 586 5,015, 544
Tl — AT
= 1 470, 880
B HibR TEE G B B =10
m2 20 3,161 63, 220
LR CF (Mt #2) 200 X 5
m 40 2,423 96, 920
BAN = SD345 D16 L=600
VN 160 144.6 23,136
¥ Lavy)-h 18-8-40 (Fi4F) #JZ 10cm
m2 400 3,172 1, 268, 800
PNIE
= 1 655, 899
TR L
= 1 655, 899
15 RKigavy)-h 24-12-25(20) (F&JF)
m 37 17, 727 655, 899
W T
= 1 5, 786, 960
W3 T
(1B =h)
= 1 5, 786, 960
VIR 24-12-25(20) (F&JF)
m3 105 25, 317 2, 658, 285
AR SD345 D13
t 0. 62 159, 467 98, 869
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THEXy « T - FER - 5 B B G EHAm #H TE (B ESM)
AR SD345 D16~25
0.89 157, 549 140, 218
H HiAR TEE G B B =10
11 3,161 34, 771
LA CF (Mt #2) 200 X 5
15 2,423 36, 345
Tl — AT
1 1, 648, 080
Tl — AT
(METLHY)
1 941, 264
¥ Lavy)-h 18-8-40 (Fi4F) #JZ 10cm
74 2, 664 197, 136
Tl — AT
1 31, 992
kB T
1 1, 853, 321
/)Y =7 ny) T.CE7 ny ) 3E)
1 1, 809, 200
7 ny )R #2120mm
200 9, 046 1, 809, 200
AT
1 44, 121
ANLIES n7fk
70 630. 3 44, 121
Bkt 1
1 1, 705, 654
LHTHIKEE T
(U1-B300-H300)
1 1, 705, 654
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
R FELE)T9v45740~0 BUE 0. 1m
m2 63 1,084 68, 292
VIR 18-8-40 (= %)
m3 16 31, 190 499, 040
H HiAR TEE G B B =10
m2 2 3,161 6, 322
Tl — AT
= 1 1,132, 000
frEPaE L
= 1 952, 854
TEH T
= 1 952, 854
IRzt =EV/IRN 18-8-40 (= %)
m 90 6, 862 617, 580
15 FaRav ) -h 18-8-40 (F%7) BUE 20c m
m2 51 6,574 335, 274
HEE L
= 1 8,173,571
e B LT
= 1 5, 296, 475
/) ) -MEIEBUE L ARG SN HARUIE 1
m3 263 9, 160 2, 409, 080
/) ) -MEIEBUE L ERAHEEY HARUIE 1
m3 155 16, 129 2,499, 995
AR BT TAT7VMEHZERR 15emEl
m 69 579.5 39, 985
LR TAT7VMERSERR 15emPL T
m2 690 503.5 347, 415
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H TE (B ESM)
TEHR LB T
= 1 2,877, 096
PRauRiiig av9Y)=hi (JE57)
m3 263 2,137 562, 031
PRauRiiig ) -k (Bk)
m3 155 2, 647 410, 285
PRauRiiig TAT 7 bk
m3 42 3,204 134, 568
ALy av7Y)=hik (JE57)
m3 263 3,653 960, 739
ALy ) -k (Bk)
m3 155 4,109 636, 895
ALy TAT 7 bk
m3 42 4,109 172,578
fFHFE R T
= 1 2,910, 990
TAT 7 MifZE T
(TA77 W IEHEER)
= 1 2, 783, 400
N & e (OE - D) FAITyvTy RC-40 £ 0 & 200
mm
m2 1, 000 649. 4 649, 400
FE (FaE - B FESRI T AT, (20) AfEEIE 60m
m 3. Omtd
m2 1, 000 2,134 2, 134, 000
i L
= 1 127, 590
1A R )) -} 18-8-40 (= %)
m 15 8, 506 127, 590
G an
(FEE %
= 1 1,791, 992
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THEXy « T - FER - 5 Mo % AL & G EHAm #H T2 (BB
4T
m3 290 264, 836
B (L) R - 4. 0mPL |
= 1 58, 116
b S T Cadl- ERiRY L&)
= 1 140, 544
FEHA (-27) w1550, 000m3 AT
= 1 66, 176
Fe AL T
= 1 273, 264
TAT 7 MifZE T
(R &%)
= 1 597, 139
& e (OE - D) FAITyveTy RC-40 {1 0 & 150
mm
m2 252 541. 6 136, 483
FE (FaE - B FAEBRI T AT (20) AfEEIE 50m
m 3. Omtd
m2 252 1,828 460, 656
Ll
= 1 276, 522
D =}7) 2=k FRIE - i 300X 150
m 34 8,133 276, 522
HIRT
= 1 154, 845
KRR Paff - = BORE 200~400mm
m 37 4,185 154, 845
RS B L T
= 1 126, 882
LR TAT 7V MEREERR SHEERRE 6 c m
m2 252 503.5 126, 882
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TEHR LB T
= 1 98, 504
PRauRiiig TAT 7 bk
m3 13 3,204 41, 652
ALy TAT 7 bk
m3 13 4,109 53,417
BU % E L KRS
= 1 3,435
Gan
= 1 4,174, 129
- F - B T
= 1 226, 640
VESEY-D Hei T
= 1 2,522, 695
RmE T
= 1 1, 424, 794
B TR
= 1 76, 992, 083
MR E
= 1 8,225, 721
B3 TS
= 1 2,427,903
TR
= 1 1, 654, 953
TR B S MR ST
= 1 1, 654, 953
et By
= 1 6, 667
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HoOflf =%

THX4y - T - FER] - [ P - BRI B & A CHAMm & T (A E M)
A AV H R
® 1 6, 667
BGmEsET (K30
® 1 766, 283
HIMGERE (FE L)
=« 1 5,797, 818
WML
=« 1 85, 217, 804
B P
=« 1 20, 409, 269
T AT
=« 1 105, 627, 073
— R P
=« 1 17, 772, 927
TEEfliAS
=« 1 123, 400, 000
THEBLFH Y %H
=« 1 12, 340, 000
TH#&G
=« 1 135, 740, 000
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